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Exercise NMXJ : An 1.0 kg object hangs from a spring whose spring con-
stant is 100 N/m. You take the mass, pull it down 10 cm, and then give it an
initial downward speed of 0.50 m/s. What is are the values of A and O here?

Exercise N12X.8: A 68-kg friend of yours goes bungee jumping, and you
watch. You notice that after the jump, the friend oscillates once up and down in
about 6.0 s. Estimate the effective spring constant of the bungee cord.
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NI11T.1

NI11T.2

N11T.3

N11T.4

NI1T.5

If you double the amplitude of a harmonic oscilla-
tor, the oscillator’s period

Decreases by a factor of 2.

Decreases by a factor of +/2.

Does not change.

Increases by a factor of /2.

Increases by a factor of 2.

Changes by some other factor (specify).

mEY 0w

If you double the amplitude of a harmonic oscilla-
tor, the object’s maximum speed does what? (Use
the answers for problem N11T.1.)

If you double the spring constant of a harmonic os-
cillator, the oscillation frequency does what? (Use
the answers for problem N11T.1.)

A glider on an air track is connected by a spring to
the end of the air track. If it takes 0.30 s for the
glider to travel the distance of 12 cm from one turn-
ing point to the other, its amplitude is

12 em

6 cm

24 cm

36 cm

3.6 cm

We are not given enough information to
answer.

ZRZECNOR- P S

Consider the glider described in problem N11T4.
Its phase rate is

0.30s7!

0.15571

0.60 s

3.77s71

0.096 s~1

Some other result (specify)

SRZECROY IS




NI11T.6

NI11T.7

N11T.8

N11T.9

A glider on an air track is connected by a spring to
the end of the air track. If it is pulled 3.5 cm in
the +x direction away from its equilibrium point
and then released from rest at t = 0, what is the ini-
tial phase 67

0

/4.

/2

7

3m/2 ;
Some other result (specify)

Mg 0w

A glider on an air track is connected by a spring
to the end of the air track. If it is pulled 3.5 cm in
the —x direction away from its equilibrium point
and then released from rest at f = 0, what is the
initial phase 6?

A0

w/4

/2

i

3m/2

Some other result (specify)

mTmognw

A mass hanging from the end of a spring has a
phase rate of w = 6.3 s™ (= 1 cycle/s). Let’s define
t = 0 to be when the mass passes x = 0 going up. If
its speed as it passes is 1.0 m/s, what is its ampli-
tude A? '
0

0.16 m

1.0m

6.3 m

We are not given enough information to
answer. ’

Some other result (specify).

SESROR-ES

e

To double the period of a pendulum, you need to

multiply its length by a factor of
1 .

HEHY O W >
&%N [N}

4
Some other result (specify)




Exercise N11X.7

A-1.0-kg object hangs from 4 spring whose spring constant is 100 N/m. You
take the mass, pull it down 10 cm, and then give it an initial downward speed
of 0.50 m/s. What are the values of A and 6 here?

Exercise NT11X.8

A 68-kg friend of yéurs goes bungee jumping, and you watch, You notice that’
after the jump, the friend oscillates once up and down in about 6.0 s, Estimate
the effective spring constant of the bungee cord. - -




